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Mary made cupcakes.

She made more than 11 cupcakes.

She made less than 13 cupcakes.

How many cupcakes did she make?

answer: ____________________

Name: 

Daily Word Problem

A-31

Show your work.



Greg has 9 toys.

Hannah has 4 fewer toys than Greg.

How many toys does Hannah have?

answer: ____________________

Name: 

Daily Word Problem

A-32

Show your work.
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Wyatt has 4 small cookies.

His mom gave him 6 more cookies.

How many cookies does Wyatt 
have?

answer: ____________________

Name: 

Daily Word Problem

A-33

Show your work.
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Ace has 8 rocks.

He throws 2 rocks in the water.

How many rocks does he have now?

answer: ____________________

Name: 

Daily Word Problem

A-34

Show your work.
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There are 9 children in class.

5 are girls.

How many are boys?

answer: ____________________

Name: 

Daily Word Problem

A-35

Show your work.
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Daily Word Problem

ANSWERSA-31 through A-35

Mary made cupcakes.

She made more than 11 cupcakes.

She made less than 13 cupcakes.

How many cupcakes did she make?

answer: ____________________

Show your work.

Greg has 9 toys.

Hannah has 4 fewer toys than Greg.

How many toys does Hannah have?

answer: ____________________

Show your work.

Wyatt has 4 small cookies.

His mom gave him 6 more cookies.

How many cookies does Wyatt 
have?

answer: ____________________

Show your work.

Ace has 8 rocks.

He throws 2 rocks in the water.

How many rocks does he have now?

answer: ____________________

Show your work.

There are 9 children in class.

5 are girls.

How many are boys?

answer: ____________________

Show your work.

11,  12  , 13

12 cupcakes

6 rocks 4 boys

5 toys 10 cookies

9 -- 4 = 5

8 -- 2 = 6 9 -- 5 = 4

4 + 6 = 10


